Stock Exchange GREEN

	
	Stock 1
________________
£_______________
	Stock 2
________________
£_______________
	Stock 3
________________
£_______________
	Bank?

£_______________

	Event 1



End total:
£______________
	
	
	
	

	Event 2



End total:
£______________
	
	
	
	

	Event 3



End total:
£______________
	
	
	
	



Stock Exchange AMBER

	
	Stock 1
________________
£_______________
	Stock 2
________________
£_______________
	Stock 3
________________
£_______________
	Bank?

£_______________

	Event 1



End total:
£______________
	Inc (+)/Dec (-) ___%

	Inc (+)/Dec (-) ___%

	Inc (+)/Dec (-) ___%

	Inc (+) 5%
105% = 1.05
£_______  x 1.05
= £_______  

	Event 2



End total:
£______________
	
	
	
	

	Event 3



End total:
£______________
	
	
	
	



[bookmark: _GoBack]Stock Exchange RED

	
	Stock 1
________________
£_______________
	Stock 2
________________
£_______________
	Stock 3
________________
£_______________
	Bank?

£_______________

	Event 1



End total:
£______________
	Inc (+)/Dec (-) ___%
Multiplier = ____
£_______  x ____
= £_______  
	Inc (+)/Dec (-) ___%
Multiplier = ____
£_______  x ____
= £_______  
	Inc (+)/Dec (-) ___%
Multiplier = ____
£_______  x ____
= £_______  
	Inc (+) 5%
105% = 1.05
£_______  x 1.05
= £_______  

	Event 2



End total:
£______________
	Inc (+)/Dec (-) ___%

	Inc (+)/Dec (-) ___%

	Inc (+)/Dec (-) ___%

	Inc (+) 5%
105% = 1.05
£_______  x 1.05
= £_______  

	Event 3



End total:
£______________
	Inc (+)/Dec (-) ___%

	Inc (+)/Dec (-) ___%

	Inc (+)/Dec (-) ___%

	Inc (+) 5%
105% = 1.05
£_______  x 1.05
= £_______  



